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Report Computer

 This next four pages will be the scope display when connected to the video output of the spectrum analyzer.

 Time of one pulse train (w/ blanking intervals) = 20 mS
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Report Computer

 Time of one Blanking Interval = 0.500 mS

 There are 12 blanking intervals in the pulse train.  Each  blanking interval has the same duration.

 This means the acutal time per pulse train is:
 20 mS - (12*0.5 mS) = 14 mS
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Report Computer

 Number of Pulses over 100 mS time.

 There are 2 full pulse trains and a partial pulse train from 90 mS to 100 mS.

 Please see the next plot for the actual time on the partial pulse train.
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Report Computer

 Between 90 mS and 100 mS, the first 10 mS of the pulse shows up again.  Keep in mind there is a 0.500 mS blanking interval between pulses.

The time for this is 10 ms - (5*0.500 mS) = 7.5 mS

Thus the duty cycle is (14 mS * 2 full pulse trains) + 7.5 mS = 35.5 mS = 35.5% duty cycle.


